





_ y) IF/ﬂﬁ‘sec9+tan9=12.5, then /a7 A &Y
Sec O —tan O + 0.96 = ?




3 Three — sevenths of my current age is the same as four — fifths of that of one
of my cousin’s. My age three years ago will be his age ten years hence, My

current age is years

T TR IHF 3/7 TR WM AT HT I H 4/5%F FAIH 3 TN UGA A 8
A HIS % 10 TG & TS H AT & a1 W TAAH SH 7T HIR 2
(a 21
(b) 35

d 42




4 The mean of three numbers is 21. The range of this data setis 19

while the difference between the two smallest numbers is 5. the gratest
of the three numbers is

3 TEATAY T ATER 21 § ,qAT WA 19 ¢ A2 2 St d@rsit &t 3faw 58 v
3T T O A9 IS GEAT AT w2

@@ 27
b) 29
© 30

[@ 7]




5 The initial ratio of sugar and flour in mixture was 17:28. with 27 kg of

the mixture , sunita added more flour to make the sugar to flour ratio
2:5. How much flour did Sunita later add?

T forsror & <fift o s % oraTer 17:28 v 27 Toket frsror & T
HAR TeT foreTra srar § i T 2:5 AT Y 2

(a) 8.1kg
(b) 803 kg
(0 85kg




The difference between the sum of four consecutive odd numbers and three consecutive even

numbers together is 20.Also the largest even number is 5 more than the largest odd number

.What is the sum of the smallest odd number and the smallest even number?
TR SHATTA [T HEATST TR A1 ThHTTd G0 HEATST oh TRT ahT 36X 20 g AT &, Tad 9t 99
TEIT TaH T TOuH HEaT | 5 778k gl Tad Siel ([auH HET 3R Tad Sl a0 G&EaT &l It

T B2

A.77
B.71
C.89
D.83




Ratio of the day required by A and B to complete some work is 3:5 ,They

6 require 5(5/8) days to complete the work ,In how many days can A alone
complete twice the work ?
FO HTH T 6 & f17 A 3R B gRT ermavass far & orquma 3:5 8, 3¢ & @
& o ToTT 5 (5/8) fot Y errarvarera gt 7, foham fomt # otehey A QU
(a) 8days
(c) 18 days
(d) 15 days
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7 Two pipes fill a tank when working individually in 5 hours and 8 hours respectively
while a third pipe can drain the filled tank in 1.2 hours .If all the thee pipes are turned
on at the same time when the tank is full ,how long will it take to empty the tank

completely?

31 QTST SHATT: 5 T 3T § UE W 3TheY Sh Y W hd & TA(eh Teh 18T UTST 1.2 e H
WY FU o 1 WTeAT T GahaT 81 AfQ < WRT BT AR AT argy =ne] & i3 9 ar &6 @t

Tt TE | Qe A W Raan awa e
(@) 1(59/61) hr

(b) 9 (59/48) hr
(c) 3.8hour
(d) 3 hours




sin?0 + cos*O + tan?0 - sin20




0 The sum of two number is 9 .The sum of their reciprocal is 2 .one of the

number is

S AEITA HTANT9 ¥ | ST SThT HTANT 1/2 ] | ST A A T B

(a 2

¢ S
da 4




cot*0 + cot? O = 52 find/ATa I

cosec? O - cosec? O




Veer bought some chairs and tables from a shopkeeper which are in a ratio 9: 8.
Marked price of a chair and a table is in a ratio 5: 7 shopkeeper gives discounts of

20% and 25% on chairs and tables respectively. If the total discount offered is 4600

Rs. Find the total selling price of Chairs

o Ueh TSR O Fo HAAT R Ut GRS S 9: 8 % ATUTA H §| Teh FHT R Teh A 61 Sifehet
T 5: 7 % STUT W &, THRMHGR HAat S AT T HAN: 20% 3 25% T P a7 81 A & A
STt et B 4600 TUY B FHRIT BT Fel frsha Hod [T hiTg

A.6000 B.4800 C.3600 D .7200

[




L

Archit calculates his profit% on SP & his friend Nik calculate profit % on CP. The
find that the difference of profit between them is rs 450. If sp of both are same & both

get 20% profit . Then find SP of each

3t THYT U U TTHY, ShY TUTHT AT & A SURT S ek TUT 9T 379 SATHY, <R TUHET LAt
21 3 T ¥ Toh 3k offer ST <R 31 450 TUX B Af2 ST R TEd AT B 31 ST Y 20% ST

ToreraT 81 O ek T vEd @i
A13500rs B.14500rs C.12500rs D.15000 rs




11 The price of rice increased by 25% a man can purchase 2kg less for
rupee 80 .find the initial quantity(in kg) ?
TS sh hAd | 25% ohY Tl g3 T ATHT 80 Tuar 0 2 forett vt g
qTaT ¥, JHATAT AT T uat ermg(fRhe) ?

a) 10

b) 8
(c) 5
d 6
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12 The vessel contains some litre of pure milk 10 litre is taken out and replaced
with 10 litre water this process repeated one more time , now ratio becomes

milk to water is 225:64 find the initial quantity of pure milk
HAR A FHO e T U T 10 Fiey anek Fawrerr sirar @ @ik 10 e ariv s

ary fereenfia forar strar & & witkam & o ol IR et wrar B, | stara
U IR U T 225:64 BN AT & IS T hY TTf¥res WrEAT 6T et I

(b) 68
(¢c) S5
(d 48




When A man sold some oranges @ 12 for 1,and he gain 25%,find the cost

price of 120 oranges ?

S Tk ATGHT 17T H 12 H WA TS AR AAAT 8, AR IN 25% T N

TATE, 120 AR T TRT He T o 2

(b) 6
© S
d 4




In right angle triangle ABC, AB= 18 cm BC =24 cm respectively ,find the

distance between incentre and circumcentre (cm)

T AU et ABC @ AB =18 cm,BC=24 cm SHHT:, T8 71 Y o=

IR uftchy & wer (B2

(a) 3\/§
® 6V5
(¢ 5 \/g
@ 4V5




The wheat of x Rs./kg is mixed with wheat of y Rs./kg in the ratio 2: 3. On selling the mixture at 49
Rs./kg there is a gain of 16(2/3)%. If the quantity in which they were mixed is reversed and the
selling price remains the same the gain percent becomes 550/19% ,What is the value of 'X

x %./TRUT & g Rl y %./FRTT & T122: 3 o FATuTd | Forerrar srar 21 frsror st 49 &/ waem @

16(2/3)% T ATH BraT g Afe e arsm % 378 forerman mam o, 38 sear W e s siR s aea Tt @
| T AT FTA9Td 550/19% B W6l €, X T W T 2?2

A 25 Rs/kg B.30Rs/kg 3.28 Rs/kg D.32Rs/kg




‘- 15 If length of median of triangle PQR are PA,QB and RC are of 20,21,29 cm

respectively , the find the area of triangle PQR
Ife freRior PQR it wifeaenteny fir wiats &,PA, QB 3T RC SHAIT: 20,21,29

et & §, BT PQR &7 S AT@ Y 2

(a) 280cm’
(b) 260cm

(© 540cm?
(d) 390 cm?




~ 1
16 x+ —=1 find/ FTAT

18x'% + 6x° = ?




13

Sides of a parallelogram are in the ratio S : 4 Its area is 1000sq
units. Altitude on the greater side is 20 units. Altitude on the

smaller side is

AU AU hl HSATAT T ATATE 5:4 §, 3R AAH 1000 TF
THE ¥ IR T YW1 W IS 20 THTS 7 A TN AT W IHS

RGO

(1) 30 units
(2) 25 units

) units
(4) 15 units




— ‘13, value of cos O is:




— 5 The value of tan 1°. tan 2°. tan3". tan4 tan 87°. tan88”. tan89"is

HI FTA Y 2

M 1/+3
R

3)1

(4) undefined




216 If sec O + tan O = \/§ , then the positive value of sin O is
T TG & ?




\ " 1 1
7If (x + ;) = 4,then x3+§ is







Find the value of

\

11../11./11.V11
Jd



Corresponding altitudes of two similar triangles are S cm and 7 cm. Find the )

—

ratio of their areas.

A EAET A eht 9T 5 cm R 7 cm 3 &A%t o SATATT AT N ?

(V5 :V7 |
(2)5:7
(3)10: 14

(4) 25 :49




)1 The difference between C. I ( compound Interest ) and “<=

N\
&)

S.I ( simple Interest) on a sum of Rs 4000 for 2 years

at 5% p.a payable yearly is
(1) 20Rs
(3) 50 Rs
(4) 60 Rs

[



K

.~ 2 A reduction of 20% in the price of sugar enables me to purchase me
to purchase 5kg more for Rs 600. Find the price of sugar per kg

before reduction of price.

=it =t hTa W 20% = wHT EN /600 T 7 5 forent AR Tlig
e wem v sma {1 Hiwa & i § v i foret < @ wer T

H?

L_.'-..

(1) 24 Rs
(3) 32 Rs
(4) 36 Rs




K

L:: 3 Aselsa bicycle to B at a profit of 20%. B sells it to C at a profit of
25%. It C pays Rs 225/- for it, the cost price of the bicycle for A is :

A 20% FATH IR B I Uk ATEfehet A9dT 8. B 30 25% o ATH WX C
1 ATAT 8. TAK Fo18 € 225/- TUXA T AW AT, A & forw

Argfehet Sl AT HFT &

(1) 110 Rs
(2) 125Rs
(3) 120 RS







